



Vendor Ranking

Page 1 of 1

Letting: 01250918

September 18, 2025 11:00 Call Order: 011

Contract:

E1Y05-R0

District: District 1

Counties: DIST/ST-WIDE, MANATEE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 43272827262 (*)

Contract Desc: Mowing, Litter Removal, Edging and Sweeping

AM

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	INTERSTATE BUSINESS SOLUTIONS,	Responsive	Winning bid	\$959,651.12	100.00%
2	CROPLAND SERVICES, INC.	Responsive	Non-Winning Bid	\$1,057,161.17	110.16%
3	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$1,080,846.23	112.63%
4	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$1,177,792.74	122.73%
	UNITED FREIGHT SERVICES LLC	Non Responsive	Non-Winning Bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 4

Letting: 01250918 September 18, 2025 **Call Order:** 011 **Contract:** E1Y05-R0

District: District 1 Counties: DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

MANATEE

Project(s): 43272827262 (*)

Contract Descr: Mowing, Litter Removal, Edging and Sweeping

The work under this Contract consists of Mowing, Litter Removal, Edging and Sweeping.

Line No / Item ID Alternate	Quantity Units	(1) INTERSTATE BUSINESS SOLUTIONS,		(2) CROPLAND SERVICES, INC.		(3) T & M LAWN-FENCE SERVICE INC	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(LARGE MACH	IINE MOWING (AC	;				
0005 E107 2 1 MOWING (LARGE MACHINE)	14,413.788 AC	29.00000	417,999.85	30.00000	432,413.64	11.00000	158,551.67
0010 E107 2 2 MOWING (SLOPE)	676.380 AC	30.00000	20,291.40	210.00000	142,039.80	90.00000	60,874.20
0015 E107 2 3 MOWING (INTERMEDIATE MACHIN	1,257.972 E) AC	27.00000	33,965.24	64.00000	80,510.21	60.00000	75,478.32
0020 E107 2 4 MOWING (SMALL MACHINE)	474.780 AC	25.25000	11,988.20	180.00000	85,460.40	60.00000	28,486.80
0025 E110 30 LITTER REMOVAL	16,822.920 AC	25.25000	424,778.73	10.00000	168,229.20	37.00000	622,448.04
0030 E110 32 2 EDGING	6,750.360 MI	7.50000	50,627.70	22.00000	148,507.92	20.00000	135,007.20
0001 LARGE MACHINE S MOWING (AC)	ection Totals:		\$959,651.12		\$1,057,161.17		\$1,080,846.23



09/23/2025

Page 2 of 4

Tabulation of Bids

Letting:	01250918	September 18,	2025 C a	all Order: 011		Contract:	E1Y05-R0	
Line No / Item Item Descripti		e Quantity Units	\ /	ATE BUSINESS ITIONS,	(2) CROPLAND SERVICES, INC.		(3) T & M LAWN-FENCE SERVICE INC	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
	Contract G	rand Totals:		\$959,651.12		\$1,057,161.17		1,080,846.23



09/23/2025

Tabulation of Bids

Page 3 of 4

Letting:	01250918	September 18,	2025 Cal	Order: 011		Contract:	E1Y05-R0	
Line No /		rnate Quantity Units	(4) SUPERIOR L & LAW					
() indicates	item is bid as Lump	Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	(LARGE MACH	INE MOWING (AC					
	7 2 1 RGE MACHINE)	14,413.788 AC	36.00000	518,896.37				
0010 E10 MOWING (SL	7 2 2 OPE)	676.380 AC	44.00000	29,760.72				
	7 2 3 TERMEDIATE MAG	1,257.972 CHINE) AC	17.00000	21,385.52				
	7 2 4 MALL MACHINE)	474.780 AC	17.00000	8,071.26				
0025 E11		16,822.920 AC	17.00000	285,989.64				
0030 E110 EDGING	0 32 2	6,750.360 MI	46.47000	313,689.23				
000	1 LARGE MACHIN MOWING (A	IE Section Totals:		\$1,177,792.74				

Contract Grand Totals:

\$1,177,792.74



09/23/2025

Tabulation of Bids

Page 4 of 4

Letting: 01250918

September 18, 2025

Call Order: 011

Contract:

E1Y05-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.